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Systems of Linear and Quadratic Equations                         NYS Regents Exam Questions              

                                                                                                    from 2007 – Aug 2014
Systems of Linear and Quadratic Equations

· Use Table feature of graphing calculator to see where they are the same
_____1. Which ordered pair is in the solution set of the system of equations 
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(1) (-5, -1) 

(2) (-5, 6)

(3) (5, -4) 

(4) (5, 2)
_____2. Which ordered pair is a solution to the system of equations 
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(1) (-2, -2) 

(2) (-1, 1)

(3) (0, 0)

(4) (2, 2)
_____3. Which ordered pair is a solution of the system of equations 
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(1) (-5, -30)

(2) (-1, -18)

(3) (0, 5)

(4) (5, -1)
_____4. Which ordered pair is a solution of the system of equations  y = x + 3 and 
               y = x2 – x ?
(1) (6, 9)

(2) (3, 6) 

(3) (3,-1)

(4) (2, 5)

_____5. What is the solution set of the system of equations x + y = 5 and y = x2 - 25?

(1) {(0, 5) , (11, -6)} 


(3) {( -5, 0) , (6, 1l)}

(2) {(5, 0), (-6, 11)}


 (4) {(-5, 10) , (6, -1)}
_____6.  How many solutions are there for the following system of equations?
y = x2 – 5x + 3

y = x – 6
(1)  1

          (2)  2

      (3)  3

   (4)  4
Solve using the given graph  

· Find point(s) of intersection
_____1. Which ordered pair is a solution of the system of equations shown in the graph 

               below?

[image: image7.emf]
(1) (3, 1) 

(2) (3, 5)

 (3) (0,1)

 (4) (0,4)
_____2. Two equations were graphed on the set of axes below.
[image: image8.emf]
           Which point is a solution of the system of equations shown on the graph?
(1) (8, 9) 

(2) (5, 0)

 (3) (0, 3)

 (4) (2,-3)

_____3. Which graph can be used to find the solution of the following system

               of equations?

y = x2 + 2x + 3

2y − 2x = 10
[image: image9.emf]
_____4. Which graph could be used to find the solution of the system of

               equations y = 2x + 6 and y = x2 + 4x + 3?
[image: image10.emf]
5.  On the set of axes below, solve the following system of equations graphically for all  
     values of x and y.
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[image: image12.emf]
6. Solve the following systems of equations graphically, on the set of axes below, and  

        state the coordinates of the point(s) in the solution set.
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7. On the set of axes below, solve the following system of equations graphically and 

     state the coordinates of all points in the solution set.
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8. On the set of axes below, solve the following system of equations graphically and 

    state the coordinates of all values of x and y.
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[image: image18.emf]
9. On the set of axes below, solve the following system of equations graphically and state 
    the coordinates of all points in the solution set.
y = -x2 + 6x – 3 
x + y = 7
[image: image19.emf]


10.   On the set of axes below, graph the following system of equations.

y + 2x = x2 + 4

y – x = 4
        Using the graph, determine and state the coordinates of all points in the solution set  

        for the system of equations.

                  [image: image20.emf]


11.   On the set of axes below, graph the following system of equations.  Using the graph, 

                   determine and state all solutions of the system of equations.


y = -x2 – 2x + 3

y + 1 = -2x
[image: image21.emf]


12.  On the set of axes below, solve the following system of equations graphically for all 

                  values of x and y.  State the coordinates of all solutions.

        y = x2 + 4x – 5 

          y = 2x + 3
            [image: image22.emf]


13.  Solve the following system of equations algebraically for all values of x and y.

y = x2 + 2x – 8 

y = 2x + 1
14.   Solve the following system of equations algebraically:

y = x2 – 6x + 9

y = -9x + 19
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